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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-  Please leave ---------- directions for the housekeeper, so she knows what needs to be done.
1) authentic 2) restless 3) cursory 4) explicit

2-  The islands ---------- their name from the sacred images found on them by the early
European navigators.
1) derive 2) illustrate 3) infer 4) grasp

3-  People love the Presidio because it is in close ---------- to many area attractions, including
the famous aquarium, the SFB Morse Botanical Reserve and the Spanish Bay Resort
Golf Course.
1) relevance 2) proximity 3) accord 4) observation

4-  This system, which for many yvears subsequently was regarded as authoritative, has been
subjected to ---------- criticism by later economists, and it is perhaps not too much to say
that it now possesses mainly a historical interest.
1) transient 2) feeble 3) vigorous 4) shaky

5-  Although Norman could ---------- his sister’s story about her innocence to absolve her, he
refused to do so because he was angry at her.
1) corroborate 2) testify 3) tulfill 4) retain

6-  When he came in to tea, silent, ---------- , and with tear-stained face, everybody pretended
not to notice anything.
1) facetious 2) showy 3) mercurial 4) morose

7-  Since color is absorbed as it travels through water, the deeper you are, the more likely
you will notice a ---------- in the clarity of reds, oranges and yellows.
1) intensification 2) deception 3) reduction 4) competition

8-  As the students argued, the teacher tried to ---------- them into silence with the threat of a
detention.
1) impose 2) condemn 3) condense 4) coerce

9-  Teachers who consider cartoons and comic books ---------- to students’ literacy skills
often use class time to deride these media.
1) pertinent 2) harmful 3) conducive 4) indispensable

10- Salt is valued not only because of its ---------- as a condiment and preservative, but also

because they are essential to the health of humans and animals.
1) variances 2) properties 3) predictors 4) temptations
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PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

Being funny has no place in the workplace and can easily wreak havoc (11) ----------
an otherwise blossoming career. Of course, laughter is necessary in life. But if you
crack jokes (12) ---------- snide remarks at work, you will eventually not be taken
(13) ---————--- . You will be seen as someone who wastes time (14) ---------- could better
be spent discussing a project or an issue. Additionally, many corporate-minded
individuals do not have the time to analyze comments with hidden meanings-they will
take what you say (15) --——--—-- and as an accurate representation of your
professionalism in the workplace.

11- 1)on 2)n 3) at 4) for
12- 1) which they make 2)to be made 3) and make 4) then make
13- 1) by some others serious 2) serious by others
3) being seriously by others 4) seriously by others
14- 1) and 2) when 3) that 4) that it
15- 1) is absolute 2) as absolute 3) be absolute 4) that is absolute

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

As a fundamental requirement for beneficial living, ethics provides the means for
deciding purposeful courses of action that otherwise would become random, arbitrary
and even aimless. In a social environment that lacks an ethical code of conduct, there
is no way to judiciously obtain specific outcomes because there are no established
methods to choose, theoretically, from among unlimited objectives. Even within
standard ethical milieus one could be successfully prevented from pursuing individual
goals. Based on rational ethical standards, humans can more correctly organize and
thus prioritize goals and actions to optimize outcomes. Any flaw in requisite ethics
also reduces one's ability to pursue certain endeavors successfully. Thus, morality and
integrity are important characteristics that demonstrate a nation's integrity, even for
those with no aspirations for a career in law enforcement. We instinctively know that it
is good and moral to act with integrity, but by establishing mutual understanding for
the dignity and necessity of providing moral reasoning we become motivated to
champion such behaviors.

Regardless of one's position in society, the main reason to lead a moral life of
integrity is to construct a better society by treating every member equally according to
a uniform code of principles. Other reasons are to secure meaningful employment,
business success and reduce levels of communal and personal anxiety. Ultimately, the
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17-
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19-

importance of ethics do not concern philosophical understanding but rather the
improvement of how we live. Being moral enriches our lives and the lives of those
around us. It is especially important to live a moral life when young, as it is helpful to
exercise and practice ethical concepts before being confronted by more complex
issues. Ethics, like most everything else we strive to be good at, requires practice and
effort to perfect correct decision making throughout life and pays great dividends
when one is faced with serious moral dilemmas.

Islamic ethics also emphasize the need to understand and develop virtue. Knowing
that we ought to behave in a certain way but missing an opportunity to exercise moral
behavior indicates the need to “sharpen moral vision". For example, we know that we
ought to stay in good physical shape but most of us do not. This illustrates a need to be
mindful of an important virtue (in this case, perseverance) that should be developed.

It’s stated in the passage that ethics ---------- ‘

1) hinders people’s abilities in a social environment

2) prevents the formation of any flaws in each community

3) contributes to people to achieve the specific consequences wisely
4) 1s an established method confirming individual unlimited objectives

Mutual understanding for the dignity results in ---------- ;

1) acting with integrity 2) providing moral reasoning
3) motivation for champions 4) knowing the moral instincts
The significance of ethics is about ---------- :

1) our philosophical understanding of lite

2) the modification and promotion of our lifestyle

3) giving priority to endeavors rather than objectives

4) a uniform code of principles restricting person’s position in society
The word “strive’ in paragraph 2 can be substituted by ---------- .

1) defend 2) claim 3) suppose 4) attempt
In the last paragraph, author puts emphasis on ---------- i

1) the meaning of virtue in Islamic ethics

2) being mindful that virtue refers to perseverance

3) both knowing and developing virtue simultaneously

4) staying in good physical shape to obtain our goals

PASSAGE 2:

The Muslim philosopher and scholar Mohammed Ibn Ghazali (1058-1111) owes both
to Ibn Sina and to al-Farabi in his famous work on Islamic logic Tahafut al-Falasifah
(The Incoherence of the Philosophers), in which he proposed and defended the
Ash'arite theory of occasionalism. Tahafut al-Falasifah is a summary of Ibn Sina's
original philosophical doctrines, wherein Ghazali is pointing out 17 logical errors in
the treatise of the latter, at some points even accusing Ibn Sina of heresy.

Al-Ghazali wanted to fully separate logic methodology from (Greek) philosophy,
using logic and rationalism as argumentative tools for defending Islamic values and
doctrines. Logic was not to be a part of Islamic philosophy, but only a tool for
extracting useful hidden knowledge.
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As an example of this, Al-Ghazali wrote that “when fire and cotton are placed in
contact, the cotton 1s burned directly by God rather than by the fire”, a claim which he
defended using logic methodology by reasoning that fire was inanimate, burning the
cotton only upon coming into contact with it, but not cause the cotton to burn due to a
reason or will.

The argument that scientific observations and inductions ultimately are expressions
of a supermundane will can be found also in today's arguments for theistic evolution.
In Tahafut al-Falasifah, Ghazali makes a clear reference to the classical Greek
cosmological argument — the “First Cause” or “First Being” - which was heavily
debated by Aristotle and Plato.

In “Tahafut al-Falasifah”, Ibn Ghazali ---------- .

1) defended the theory of heresy

2) charged Ibn Sina with non-belief in Islam

3) compiled his famous work about theory of occasionalism
4) rectified the logical errors in Ibn Sina’s treatise

Logic, according to Al-Ghazali, ---------- .

1) is an integral component of Islamic philosophy

2) is a tool for recognizing the hidden knowledge

3) is a rational tool for extracting his methodology

4) contributes to philosophers to defend Islamic values

The example of fire and cotton brought in paragraph 3 ---------- ;
1) affirms the information given in paragraph 2

2) represents the power of God through an inanimate events
3) shows the direct causation of events

4) asserts that fire is alive and active

The “First Cause” or “First Being’* ---------- ’

1) was refuted by classical Greek philosophers

2) was a term of discussion by Aristotle and Plato

3) was introduced by al-Ghazali in Tahafut al-Falasifah

4) was an expression of general induction in today’s arguments
The information given in this passage mainly ---------- g

1) highlights the differences between Muslim philosophers
2) introduces the best Muslim philosophers and scholars

3) represents al-Ghazali’s attitude toward logic

4) describes al-Ghazali’s works and life

PASSAGE 3:

The Islamic Education represents the Islamic spirit in general, it aspires to construct
the human being toward achievement of the human values, the role of education to
link between reality and values, it means reconciliation between theory and practice,
saying or word and doing.

Islamic Education aims to make balance between three levels: sense, mind and
ethics, and promoting them by various Educational methods. The ego's progress is a
continuous dynamic movement which assimilates the different aspects and stages,
without negating any, the perceptive and the intellectual, thought and emotions, ideas
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and deeds are all integrated into the final aim of the ego. Also, we find the same
approach in Al-ghazali writings, his system is so balanced that it 1s preoccupation with
things divine and mystical experience leave room also for rational thinking, logical
deduction and empirical observation. It is duty of all educators to find ways and means
by which these high values are practically achieved within the learning period of their
students from their earliest age to the years of maturity.

Islamic education believes in harmony between body and soul, and did not invest in
one side and neglect the other. Body and soul are not separate things, while they
continued, so Islam is not treated them as dialectic and dualism. Keeping soul and
body is an Islamic Value; it means that every Muslim ought to keep them healthy, and
to bring instruments and aims that achieve preserving value. Ibn Miskawaih stipulated
intellectual, physical and moral education aiming at producing good human beings
from the social point of view and achieving eternal happiness and self realization. He
presented the view that physical education must precede the spiritual and intellectual
education. True education must therefore, minister to the needs of the body no less
than the aspirations of the soul.

Islamic education emphasizes the significance of the goal of science or knowledge,
because the function of science is to serve the human being. So scientific research
must be connected with certain human values.

The best title for this passage is ---------- :

1) The objectives of Islamic Education

2) Achievement of the Human Values

3) Education and Islamic Philosophy

4) The Promotion of Sense, Mind, and Ethics

The word “reconciliation” in paragraph 1 means ---------- i
1) restriction 2) freedom 3) cooperatio 4) harmony
It’s stated in the passage that Al-ghazali ---------- .

1) emphasized the assimilation of perception and the intellect

2) claimed that the science was offensive for the quality of life

3) gave privilege to divine and mystical values

4) invested in soul and neglected the body

Miskawaih, according to the passage, believes ---------- .

1) in dialectic and dualism aspects of scientific research

2) spiritual and intellectual education follow physical one

3) self-realization 1s the mere aim that Muslims must try to achieve it

4) has a completely different view about true education compared with Al-ghazali
It’s referred in the passage that the functional role of science in Islamic view is ---------- ;
1) to show i1t must be accumulated for its own not for its utilization

2) to produce values for human beings from the social point of view

3) to come to achieve better life for humankind

4) to highlight the place of rational thinking
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